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 (uq¿ ,l=Kq 40) 
fldgi 

1 jk m%Yakh i|yd fhdað; W;a;r( 

1.1  

(2)   

tall  1.2 

 

                    16x2 - 81 =(4x-9)(4x+9)  (,l=Kq 03)  

1.2  

(4)   

tall 2.6 

jir  uqo,a m%jdyh D.F. (10%) 
j¾;udk w.h  

(A) 

0 (100,000) 1 (100,000) 
1 50,000 0.909 45,450 
2 50,000 0.826 41,300 
3 50,000 0.751 37,550 

Y='j'w'     24,300 
   
 (,l=Kq 03) 

1.3       
(2) 

  
tall 6.3.1 

P(XՍY) = P(X) + P(Y) –P(XՈY)  

P(XՍY) = 2/3 + 1/4 – 1/6 

P(XՍY) = 9/12// 

 (,l=Kq 03)     
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A fldgi 
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1.4 
(1)    
tall 7.4 

 

 𝑄 =
𝑞1

𝑞0
× 100 

 

𝑄 =
305

265
× 100 = 115% 

  
  

 (,l=Kq 03) 
 

1.5  
(1) 

 
tall 5.5 

 

 r   =              n ∑ XY -  ∑ X ∑ Y 

                   √ (n ∑ X2 -  (∑ X)2 ) (n ∑ Y2 -  (∑ Y)2 ) 

 

          r   =                 10 X 42070 – 375 X 997 

                   √ (10 X 16125 - 3752 ) (10 X 111277 – 9972 ) 

     = -0. 9461 // 

 (,l=Kq 03) 
 

1.6  

(3) 

 tall 4.6    
  L1 = 29.5, ∆𝟏= 𝟏𝟗 − 𝟏𝟓 = 𝟒 C = 10 

                 ∆𝟐= 𝟏𝟗 − 𝟏𝟒 = 𝟓 
 

ud;h (𝑴𝒐) = 𝑳𝒊 + [
∆𝟏

∆𝟏+∆𝟐
] × 𝑪 

 

 𝑴𝒐 = 𝟐𝟗. 𝟓 + [
𝟒

𝟒+𝟓
] × 𝟏𝟎 

 
 
             𝑴𝒐 = 𝟑𝟑. 𝟗𝟒 ≅ 𝟑𝟑. 𝟗// 

 

 (,l=Kq 03) 
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1.7   
 (3) 
   tall 6.5  

 wfmalaIs; w.h E(X) = (-5x0.2 + -3x0.15 + 0x0.15 + 1x0.22 + 2x0.28) = - 0.67// 

        

                                                                       (,l=Kq 03) 

1.8 

(2)   

tall 2.1     

            165000 x 0.08 x 3 = re. 39,600    //     

 

 
 (,l=Kq 03) 
1.9  

 (4)                                                                                 
 

tall 7.15 

 

𝑌̂ = 𝑇̂ × 𝑆̂ 

 𝑌̂ = 7,520 × 0.85 

 𝑌̂ = 6,392 
 

 (,l=Kq 03) 
1.10     

(4)   

tall 6.4     

 42/70 = 6/10// 
(,l=Kq 03) 

1.11 
tall 2.4 / 2.7/ 5.10 

 

 A    2 
 B    3 

 C    1 

 
 (1 lg 1 ne.ska ,l=Kq 03) 
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1.12  
tall 7.6 
 

 𝐿𝑃 =
∑𝑝1𝑞0

𝑝0𝑞0
× 100 

 

                  =
140×130+250×240 

130×80+120×240
× 100 = 199.49 //      

 

 (,l=Kq 03)  

1.13 

tall 1.5 

  
𝑇𝑛  = 𝑎 + (𝑛 − 1)𝑑 

          𝑇𝑛  = 5,000 + 7 × 500 

          𝑇𝑛  = 5,000 + 3,500 
         𝑇𝑛  = 8,500 // 

úl,am ms<s;=r  

5,000, 5,500, 6,000, 6,500, 7,000, 7,500, 8,000, 8,500 

 (,l=Kq 02) 

1.14  

tall 3 

 wi;Hhs  (,l=Kq 01) 

1.15            

tall 7.10 

 i;Hhs                                                                           
            

      (,l=Kq 01) 

(uq¿ ,l=Kq 40)  
 

  A fldgfiys wjidkh 
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(uq¿ ,l=Kq 40) 
 

02 jk m%Yakh i|yd fhdað; W;a;r( 

mßÉfþoh 1.3 /01.4 

(a) 
 
2023 
wuqøjH msßjeh  : Y%u msßjeh   = 800 
1                          : 3 = 800 
200                     : 600 = 800 

 
2024 
200 x 1.2    :     600 x 1.6   
                        240 + 960  = re.1,200                                                                                                          
 

                                                                                                               (,l=Kq 02) 
(b)     
msßñ k¾;k Ys,amSka ixLHdj =X 
ldka;d k¾;k Ys,amSka ixLHdj =Y 

    
3500x + 5000y  =   135,000                      1 
x + y =   30                       2 
  
 2     x  3,500 => 3,500x + 3,500y = 105,000  
 
  2  -   3   => 1,500y = 30,000 
                              Y   = 20 
 1   => x + 20      =30 
                     X    = 10 
msßñ k¾;k Ys,amSka ixLHdj =10 

ldka;d k¾;k Ys,amSka ixLHdj =20 
              (,l=Kq 04) 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

fldgi - B 
 

2
2 
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(c)  
(i)      Y 

  4x + 3y <   12                   1                                                  

X 0 3                                                      4         1 4 

Y 4 0 3 

(0,4) , (3,0)                                                                                             2 

                                                                                                                         

  3x + 5y <  15                    2 0 3                5     x 

X 0 5 

Y 3 0 

(0,3) , (5,0) 

 
         (,l=Kq 03) 

(ii) 
 wod< m%foaYh m%ia:drfha mdglr olajd we;' 
 

(,l=Kq 01) 
 

 (uq¿ ,l=Kq 10)  

 

3 jk m%Yakh i|yd fhdað; W;a;r(  
mßÉfþoh 03 

(a) 
uq¿ wdodhï (𝑇𝑅) = b,a¨ï Y%s;h x m%udKh    

 

𝑇𝑅 = (23 –  4q) × q 

 

𝑻𝑹 = −𝟒𝐪𝟐 + 𝟐𝟑𝐪     // 
 

uq¿ úhoï (TC)=  ia:djr msßjeh  + úp,H msßjeh 

 TC= 𝟏𝟓, 𝟎𝟎𝟎 + 𝐪𝟐 + 𝟑𝐪   // 

 TC= 𝐪𝟐 + 𝟑𝐪 + 𝟏𝟓, 𝟎𝟎𝟎   // 

 

  
 (,l=Kq  04)  
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(b) 

uq¿  ,dNh (TP)= uq¿ wdodhï - uq¿ úhoï 

 TP= (−4q2 + 23q) − (   q2 + 3q + 15 000)  

             TP= 23𝑞 − 4q2−q2 − 3𝑞 − 15,000  

             TP= −𝐪𝟐 + 𝟒𝐪 − 𝟑, 𝟎𝟎𝟎 // 

  
           

 (,l=Kq  03) 

(c) 
  

  𝑇𝑅 = −4q2 + 23q      

  

 wdka;sl wdodhu (𝑴𝑹) =
𝒅𝑻𝑹

𝒅𝒒
 

 𝑴𝑹 = −8q +  23  

  

 TC= q2 + 3q + 15 000    

  
 
 

wdka;sl msßjeh (𝑴𝑪) =
𝑑𝑇𝐶

𝑑𝑞
  

                    𝑴𝑪 =2q + 3 

      ,dNh Wmßu jk úg 

wdka;sl wdodhu (𝑴𝑹) = wdka;sl msßjeh (MC) 

−8q +  23 =2q + 3 

  10q = 20 

  𝐪 = 𝟐 

 ,dN Wmßu lrkq ,nk tll .Kk 2,000. // 
 

(,l=Kq  03) 
 

(uq¿ ,l=Kq 10)  
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4 jk m%Yakh i|yd fhdað; W;a;r(  
mßÉfþoh  5.7.2  

 

(a)   
x y xy X2 

10 4 40 100 

12 5 60 144 

8 3 24 64 

14 6 84 196 

15 7 105 225 

16 8 128 256 

11 4 44 121 

18 9 162 324 

104 46 647 1,430 

 
b        =          n ∑ XY -  ∑ X . ∑ Y 

                                 (n ∑ X2 -  (∑ X)2 )  

 

            b        =          8 X 647 – 104 X 46 

                           (8 X 1430 - 1042 ) 

   
              b   =                     5176 - 4784 

                                   11,440 – 10,816 

 

  b        =  0.6282 ≅ 𝟎. 𝟔𝟑 

 

 

 

 

      a    = Y̅ − bX̅ 

      a   =  
46

8
− 0.63 ×

104

8
 

       a  =  - 2.44 
 

 wvq;u j¾. m%;smdhk f¾Ldj Y = -2.44 + 0.63x // 
 
 

 (,l=Kq  07)  
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(b)  
  

wdfoaY lsÍfuka, x = 40                                                                                                                              
 
   Y = -2.44 + 0.63x 

   Y = -2.44 + 0.63×40 

Y = 22.76 

wfmalaIs; f.úh hq;= noao re. ñ,shk 22.76// 

 
 (,l=Kq  03)  

(uq¿ ,l=Kq 10)  

5 jk m%Yakh i|yd fhdað; W;a;r( 

mßÉfþoh 4.6/ 4.7 

 
   Èk .Kk  uOH w.h 

 (𝒙) 
.=rejreka 
.Kk  

 

iuqÉÑ; 
ixLHd;h 

(C𝒇) 

0 - 9 4.5 8 8 

10 - 19 14.5 18 26 

20 – 29 

(uOH mka;sh) 
24.5 15 

41 

30 - 39 34.5 14 55 

40 - 49 44.5 3 58 

50 - 59 54.5 2 60 

  60  
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(a)     
  
 

uOHia:h  (Md)                                          

 

     𝑛

2
= 30 ,  uOH mka;sh 19.5 – 29.5(20 – 29) 

L1 = 19.5   n = 60              Fc = 26           fm  = 15         C = 29.5 – 19.5 = 10 

Md = L +
( 

𝑛

2
− 𝐹𝑐 )

𝑓𝑚
 × 𝑐 

 

                            Md = 19.5 +
(30−26 )

15
 × 10 

 
                             𝐌𝐝 = 𝟐𝟐. 𝟏𝟕 

                                                                 (,l=Kq  03)  
 

(b)     
 

mka;s m%dka;rh 
uOH w.h (X) .=rejreka .Kk (f) 

F(x) F(x2) 

0-9 4.5 8 36 162.00 

10-19 14.5 18 261 3,784.50 

20-29 24.5 15 367.50 9,003.75 

30-39 34.5 14 483 16,663.50 

40-49 44.5 3 133.50 5,940.75 

50-59 54.5 2 109 5,940.50 

  60 1,390 41,495 

   
∑ f X =1,390         ∑ f X2 =41,495   ∑ f =60 

     uOHkh      = 
∑ 𝒇𝒙

∑ 𝒇
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        = 
1390

60
 

             
                   =  23.17 

 

 (,l=Kq  03) 

 
 

(c)  
 

iïu; wm.ukh   = √
∑ 𝒇𝒙𝟐

∑ 𝒇
−  [

∑ 𝒇𝒙

∑ 𝒇
]

𝟐

        

 

iïu; wm.ukh   = √
𝟒𝟏,𝟒𝟗𝟓

𝟔𝟎
−  [

𝟏𝟑𝟗𝟎

𝟔𝟎
]

𝟐

   

                        
                                    =12.44 // 
 

(,l=Kq  04) 
 

              (uq¿ ,l=Kq 10)  
 
 

 
 
 
 
 
 

 

 

 

 

 

 

 

 

 

 

 

B fldgfiys wjidkh 
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(uq¿ ,l=Kq  20) 

6 jk m%Yakh i|yd fhdað; W;a;r( 
(A) 

mßÉfþoh  02.9 

 
(a) 

               𝑨 =
𝑺𝑹𝒏−(𝑹−𝟏)

(𝑹𝒏−𝟏)
 

 
 

 =
𝟔𝟎𝟎,𝟎𝟎𝟎𝒙(𝟏+𝟎.𝟏)𝟑(𝟏+𝟎.𝟏−𝟏)

( 𝟏𝟒𝟎.𝟏)𝟑−𝟏
 

 

 =
𝟔𝟎𝟎,𝟎𝟎𝟎 𝒙 𝟏.𝟑𝟑𝟏 𝒙 𝟎.𝟏

𝟏.𝟑𝟑𝟏−𝟏
 

  
             = re. 241, 268.88  
jd¾Isl jdßlh = re. 𝟐𝟒𝟏 𝟐𝟓𝟓. 𝟎𝟎 //  
 

(,l=Kq  03) 

(b)  
       

 jir 
 

wdrïNfha § Kh 
uqo, 
 

f.úh hq;= 
fmd,sh ^10]& 
 

wdmiq f.ùu 
 

wjidkfha § 
Kh uqo, 

1  600,000   60,000  241,269   418,731  

2  418,731   41,873  241,269   219,335  

3  219,335   21,934   241,269   0 

 tl;=j 123,807  723,807  

          (,l=Kq  03) 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  

                 

fldgi - C 
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(B) 

mßÉfþoh 02.3 /02.2 

 
(a) 
     iM, fmd,S wkqmd;slh  

 𝐸𝐼𝑅 = [(1 + 𝑟)𝑛 − 1] 𝑥 100% r=0.12 ,N=4 
 𝐸𝐼𝑅 = [(1 + 0.03)4 − 1] x 100% 
 𝑬𝑰𝑹 = 𝟎. 𝟏𝟐𝟓𝟓 = 𝟏𝟐. 𝟓𝟓% // 
 

(,l=Kq  02) 

(b)  

𝑆 = 𝑋(1 + 𝑟/𝑓)𝑛×𝑓  x= 8 000 000, n = 3,    r = 0.12,    𝑁 = 4 

 

 𝑆 = 8,000,000 × (1 + 0.12/4)3×4 

  

               =  8,000,000 𝑥 1.426          

  S   = 11,408,000 

  

  3jk jir wjidkfha§ ia:djr ;ekam;=fõ we;s uq¿ uqo, = re' 11,408,000  
                (,l=Kq  03) 

(c) 

3jk jir wjidkfha§ Íid úiska Wmhd.;a uq¿ fmd<S uqo, = 11,408,000 – 8,000,000 
         = re. 3,408,000  
 

(,l=Kq  02) 

 (C) 

mßÉfþoh  06.3 
 
(a)  

wju jYfhka iqr;,a i;=ka fofofkl= j;a isák isiqka .Kk =  10+6+2+2 =20 // 
(,l=Kq  02) 

(b) 
 

iïNdú;djh ^ f;dard.;a isiqjdf.a f.or n,af,l= isàu = 19/40  
 

(,l=Kq  02) 
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 (D)  

mßÉfþoh  06.6 

 
X : ;rÕh wjika lsÍug .;jk ld,h (ñks;a;=) 
 

 µ= 112  σ = 17.2 

 

        𝑍 =
X  −  µ

σ 
                                    

          Z        =     X  -  112 

                17.2           

 

          Z        =     120  -  112 

                17.2           

 
    Z        =  + 0.4651 
 

 
 
 

 Pr(X > 120 ) = 0.3192 or 31.92%  

 

P( x<120 ) = P (x > - 0.46)  

                       = 0.5 – 0.1772 
                       = 0.3228 
 

(,l=Kq  03) 

(uq¿ ,l=Kq 20)  
 
 
 
 
 
 
 
 
 

  

C fldgfiys wjidkh 
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Notice:  
 
 
These answers compiled and issued by the Education and Training Division of AAT Sri Lanka 

constitute part and parcel of study material for AAT students.  

These should be understood as Suggested Answers to question set at AAT Examinations and should 

not be construed as the “Only” answers, or, for that matter even as “Model Answers”. The fundamental 

objective of this publication is to add completeness to its series of study texts, designs especially for the 

benefit of those students who are engaged in self-studies. These are intended to assist them with the 

exploration of the relevant subject matter and further enhance their understanding as well as stay 

relevant in the art of answering questions at examination level. 
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